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irections: Choose the word h ild Labor: a
Thea mar, ek Themuzmeran yon::-ral:;s ‘l;a;s:s(hle);t(.z), (3), or (4) that best completes each sentence. Tsiie
e ol slassiash,
61- While the number of male smokers has fallen g
pieees 01 G FY slaamino
1) the female smokers are more in danger of smoking ¥ a8ty
2 F £ Every Word Is a Puzzle
) the number of female smokers decreases it gl 31 S i w3
3) the number of female smokers has risen k) ‘J“"b’ ulpis g leb
v
4) the female smokers have reduced the number of cigarettes they smoke T P5 sladmio
62- I found it ... that most of the students couldn’t answer that simple question.
1) amazing 2) amazed 3) amazingly, 4) amazes

63- Most doctors agree that exercise improves the easy movement-6f the blood, ... there are doctors who believe
that exercise may do some damage.

1) however 2) whereas 3) whether 4) since

64- We decide to encourage my youngsister tocontinue her higher education in her ... field of study.

1) industrial 2) televant 3) unwilling 4) extreme

65- 1 don’t know why the'Tnanagér gave the police a ... account of what had happened in the factory last week.

1) domestic 2) social 3) confused 4) rural

66- The teachers seemed for the most part to hate their jobs and spent more time ... students than they did
actually teaching.

1) constructing 2) developing 3) disciplining 4) establishing

67- The cost of living is ... going up. Today, a certain amount of money buys much less than it did a year ago.

1) exactly 2) briefly 3) centrally 4) constantly
[PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on
your answer sheet.

The first Labor Day was held on September 5th, 1882 in New York City. It was planned by a group of
...(68)... who wanted to show everyone how they made their hometown a nice place to live and work.
Today, workers” conditions are much better; ...(69)..., workers in the past were robbed of their rights. For
one thing, most children did not spend their summer reading or playing because many worked in factories.
People, both young and old, worked long hours. Workers were upset at how ...(70)... they were being
...(71)... . They decided to form a ...(72)... which is an organization made up of workers in a city, or

workers who do the same kind of work. This way, workers have more power to make changes to their

workplace.
68- 1) engineers 2) officials 3) workers 4) farmers
69- 1) but 2) while 3) whereas 4) however
70- 1) badly 2) economically 3) emotionally 4) luckily
71- 1) helped 2) treated 3) received 4) prepared
72- 1) factory 2) union 3) service 4) company
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l PART C: Reading Comprehension « best chaice (1)» @ Gh 07 (4). Then mark the correct

Directions: Read the following passages and answer the questions by choosing th
Directions

choice on your answer sheet.

Passage 1.

N— or the Republic of
North Korea was founded in 1945 after World War II. Their neighbor, South Korea

: h attacked and took
Korea, was established at the same time. The two Koreas went to war in 1950. The Nort -

. . reans back to the
over much of South Korea. But the United States jumped in and pushed the North Ko

¢ Americans and South Koreans back. T

urned to their original boundaries. The

: . he nations
Chinese border. Then China got involved and pushed th

agreed to a ceasefire. Millions of people were dead and the living ret
war never officially ended, though combat has ceased for the most part. i

. itizen
After the war, South Korea was one of the poorest nations in the world. In 1960, the average ¢

made $79 a year. The country did not have a lot of natural resources to sell, but they did have many

hardworking people. During the 1960s, the country began manufacturing labor-intensive products. Selling
these products to people in other nations made South Korea rich. They now have one of the largest
economies in the world. As of 2012, the average South Korean citizen makes around $32,020 a year.

The economy of North Korea is dramatically different. Since its birth in the 1940s, North Korea has
been one of the most secluded countries in the world. They support an idea of self-reliance that they call
Juche. Under this idea, they do little or no trading with other nations. Up until the 1980s, they received
large cash infusions from China and the Soviet Union. But the Soviet Union fell apart in the 80s and

became separate countries, of which Russia is the largest. Without the Soviet contributions, North Korea

entered a long period of famine that lasted through the 90s. Food was hard to come by and some estimate
that millions of people starved to death. Still, the country persisted when much of the world thought that it
would fall apart. Not only did they survive, they managed to build a nuclear arsenal during this time.

73- Based on the author’s tone and viewpoint, which person would most likely disagree with the main idea of

the passage?
1) A North Korean politician 2) A South Korean politician
3) An American businessman 4) A South Korean businessman

74- Which statement best describes the results of the Korean War?
1) The Korean War led to the formation of South Korea.
2) The North Koreans benefited extremely from the war.
3) Both sides lost many people and got little to show for it.
4) The South Koreans gained a lot of ground after winning the war.
75- Many North Koreans starved during the 1990s mainly because ... .
1) they had just recently lost the Korean War
2) they did not have a lot of natural resources to sell
3) the former Soviet Union stopped supporting North Korea

4) they were naturally less gifted than their southern brothers
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76- Which of the following statements would the author most likely disagree with?
1) The South Korean economy grew at an average pace after 1960.
2) North Korea is poor because they don’t trade with many other nations.
3) It is impressive that the North Koreans built nuclear weaponry during a famine.
4) North and South Koreans have grown to be different, but they come from the same place.
Passage 2:

Aaron Spelling is said to be the richest and most successful television producer in Hollywood, and in a
city famous for its wealth. His wife Candy is the biggest spender. They recently paid more than $10 million
for the huge house the famous American singer, Bing Crosby, used to live in=Thef they had it destroyed so
that an even bigger, more wonderful house could be built. Not only will'it have a more luxurious swimming
pool, but there will be an indoor ice-skating rink and'a private zoo as well. The final bill will come to at
least $25 million. They say that a few yeard ago,on a typically warm Californian Christmas Eve, Candy
had a huge amount of real snow delivered to the Spelling house and spread all over the green lawns so that
their children could erjoy, a\white Christmas. Not long ago did Candy decide she needed a few more
clothes. She had a whole.fashion show flown out to her from New York, along with the designer and three
models. Not only did she buy the entire collection, but the bags and hats the models travelled with, as well.

A lot of people in Hollywood wonder what she is going to buy next.

77- Aaron and Candy are now living in ... .
1) the house that they sold to Bing Crosby
2) a house they paid more than $10 million for :‘

3) a less luxurious house than average |

4) a house that needs lots of repairs
78- The real snow Candy wanted for Christmas was ... .
1) brought to her from somewhere else 2) produced at her own home
3) worth a small amount of money 4) placed inside her home
79- A short while ago, Candy decided to ... .
1) fly to New York to buy some clothes 2) employ a fashion designer and some models

3) manage a clothing company herself 4) buy every single item in a fashion show

2]

80- The best title for this passage could be “...”.
1) The Poor and the Rich 2) What TV Producers Do

3) The Hobbies of a Successful Producer 4) One of the Biggest Spenders



